Economics (Code - 07)
3refors (Bis-07)

Time : 3 Hours M.M. : 150

WA 3 HE sifdrpad 3w 150
Note: 1Attempt five questions. All questions carry equal marks. Question numiber I is compulsory. Answer any
two questions from Part [ and two questions from Part 1. The parts of the same questions must be answered
together and must not be interposed between answers to other questions.

11) In case of any discrepancy in the English and Hindi versions, English version will be taken as final.

e i) Ulg uee B He | A B 3l FAE &1 Ued Az 1 ferant B owor 1 ¥ QY yeel dar 9T 2 A
A UeEl B IR | U e B Hefl 3fel B IaR U WA &1 UF Uedd B 3ol BN AT oY WeA B el
D AT T T

i) afe aideh vd et favor & &g ol &), & 3iduht e sifye @ meon |

Q. 1 Write notes on any four of the following:

oo & & fpedl ar uz Rarft fafest
(a) Indifference curve and consumer equilibrium, .
qeXIdT 9P dal Iualiadl Hgael
(b) Price and output determination by Monopoly firm
TS BH g1 HAT gar Iaurea &1 fererfzor
¢) “Trade is engine of economic growth”,
&R e Hdqfy @1 doa F)
(d) Harrod modecl of growth
Aglg & &8 ASA

(¢) Strategy of Jan-dhan yojana in India
ARG # SA-te-Adroren @ e

(f) Role and growth of capital goods industries in India.
wRd # qolord axg 3T B ofda gen Fghg

Part - (3m91-1)

Q.2 Explain various types of costs in production. Narrate the transition of a firm from short-run cost curves to
long-run cost curves.

3aea # fftes yer & aREl & e SR R ol B scuscla aeg gt ¥ bl
AT 9Bl W HASHY B JAHISY |

Q.3 What do you mean by classical theory of employment? How has Keynes improved upon the classical
theory? Explain in detail.

AR & ufefed Rigia & smust @ afdm 2 2 frw vor g & ufies fgia w gur weqa
fban 22 AR yde @ #Hifed

Q. 4 (a) Discuss the role of public finance in a developing economy.

e 2o d Aol @ yftrer & ulaal HifR

(b) Examine the principles and incidence of taxation.

BIRUY B Hgid dam saurd o1 gheror B |
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Part -11 (3191-2)

Q. 5(a) Analyse the changing sectoral pattern of national income and its implications in the Indian economy. (15)

T A B vedar uRadd & WHU da saRd dderawar # wus Ritad @ Redwor @R N

(b) Throw light on causes and consequences of regional disparities in agricultural growth of the Indian economy. (15)

wrRd srferarr & g gfg F Soha RuaAaiet & RO den waEt W use S

Q. 6 Discuss the emergence of cooperative federalism in India in view of the recommendations of the Fourteenth Finance
Commission of India and other fiscal measures of the government of India in recent years. 30)
AT @ deed R amader & el qen g @ auf F g wer & Rafy st o 3R
A g oA & Feaoh duare B 3w W uReet @SR

Q.7 (a) How do you view changing pattern of foreign trade and Balance of payments in India? (15)
a3 Rt =R aw ypraE dge B Feed F[WHY B U 5 gER =A@ B P
(b) What types of inferences can be drawn from the public expenditures in India during the last few years? (15)

R go ast @ e aRd F Aewd F v yor 3 fftard feee o1 wed 20
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